
ST5X24 Set Screw

C1  Downrod

C2  Canopy

C3  Wiring Cover

D1  Mounting Bracket

M6X12 Rod Screw

A1  Motor Hub
M5X8 Blade Screw

A2  Fan Blade

Wooden Beam

A3  Fan Blade Arm

M6X8 Blade Arm Screw

B1    Light Assembly
      (Bulb Not Included)

M4X8 Light Kit Screw

Step ladder
Phillips 

screwdriver
External 

hexagonal wrench



SMART FANS   Lighting

1H

2H

4H

8H


	页 1
	页 2

